






 

 

 



 

 

 

 

  

  

  

 

 

 

 

  

  

  

  

fio --direct=1 --bs=1m –-iodepth=16 --size=32g --ioengine=libaio --group_reporting --rw=write --output=se- 

qwrite.log --name=/dev/mapper/mpath{a..z} -- name=/dev/mapper/mpatha{a..z} –-name=/dev/mapper/mpathb{a..h} 

 

fio --direct=1 --bs=1m –-iodepth=16 --size=32g --ioengine=libaio --group_reporting --rw=read --output=se- 

qread.log --name=/dev/mapper/mpath{a..z} -- name=/dev/mapper/mpatha{a..z} –-name=/dev/mapper/mpathb{a..h} 

 

fio --direct=1 --bs=4k –-iodepth=16 --size=512m --ioengine=libaio --group_reporting --rw=randwrite --out- 

put=randwrite.log --name=/dev/mapper/mpath{a..z} -- name=/dev/mapper/mpatha{a..z} –-name=/dev/mapper/mpath- 

b{a..h} 

 

fio --direct=1 --bs=4k –-iodepth=16 --size=512m --ioengine=libaio --group_reporting --rw=randread --out- 

put=randread.log --name=/dev/mapper/mpath{a..z} -- name=/dev/mapper/mpatha{a..z} –-name=/dev/mapper/mpath- 

b{a..h} 

 

fio --direct=1 --bssplit=4k/20:64k/50:256k/20:2M/10 –-iodepth=16 --size=8g –ioengine=libaio --group_report- 

ing --rw=randrw --output=mixed.log --name=/dev/mapper/mpath{a..z} -- name=/dev/mapper/mpatha{a..z} –-name=/ 

dev/mapper/mpathb{a..h} 



 

 

 

 

 

  

  

  

  

fio --filename=\\.\Physicaldrive1 --direct=1 --rw=write --bs=1m --iodepth=16 --time_based --runtime=300 

--group_reporting --name=job1 --ioengine=windowsaio --thread --numjobs=64 --norandommap --randrepeat=0 

--output=seqwritephysical.log 

 

fio --filename=\\.\Physicaldrive1 --direct=1 --rw=read --bs=1m --iodepth=16 --time_based --runtime=300 

--group_reporting --name=job1 --ioengine=windowsaio --thread --numjobs=64 --norandommap --randrepeat=0 

--output=seqreadphysical.log 

 

fio --filename=\\.\Physicaldrive1 --direct=1 --rw=randwrite --bs=4k --iodepth=16 --time_based --runtime=300 

--group_reporting --name=job1 --ioengine=windowsaio --thread --numjobs=64 --norandommap --randrepeat=0 

--output=randwritephysical.log 

 

fio --filename=\\.\Physicaldrive1 --direct=1 --rw=randread --bs=4k --iodepth=16 --time_based --runtime=300 

--group_reporting --name=job1 --ioengine=windowsaio --thread --numjobs=64 --norandommap --randrepeat=0 

--output=randreadphysical.log 

 

fio --filename=\\.\Physicaldrive1 --direct=1 --rw=randrw --bssplit=4k/20:64k/50:256k/20:2M/10 --iodepth=16 

--time_based --runtime=300 --group_reporting --name=job1 --ioengine=windowsaio --thread --numjobs=64 

--norandommap --randrepeat=0 --output=mixedphysical.log 

fio --filename=test --size=1T --direct=1 --rw=write --bs=1m --iodepth=16 --time_based --runtime=300 

--group_reporting --name=job1 --ioengine=windowsaio --thread --numjobs=64 --norandommap --randrepeat=0 

--output=seqwritelogical.log 

 

fio --filename=test --size=1T --direct=1 --rw=read --bs=1m --iodepth=16 --time_based --runtime=300 --group_ 

reporting --name=job1 --ioengine=windowsaio --thread --numjobs=64 --norandommap --randrepeat=0 --out- 

put=seqreadlogical.log 

 

fio --filename=test --size=1T --direct=1 --rw=randwrite --bs=4k --iodepth=16 --time_based --runtime=300 

--group_reporting --name=job1 --ioengine=windowsaio --thread --numjobs=64 --norandommap --randrepeat=0 

--output=randwritelogical.log 

 

fio --filename=test --size=1T --direct=1 --rw=randread --bs=4k --iodepth=16 --time_based --runtime=300 

--group_reporting --name=job1 --ioengine=windowsaio --thread --numjobs=64 --norandommap --randrepeat=0 

--output=randreadlogical.log 

 

fio --filename=test --size=1T --direct=1 --rw=randrw --bssplit=4k/20:64k/50:256k/20:2M/10 --iodepth=16 

--time_based --runtime=300 --group_reporting --name=job1 --ioengine=windowsaio --thread --numjobs=64 

--norandommap --randrepeat=0 --output=mixedlogical.log 





    


